H £ 0l & AF & S

Al A

S A
g3 Xote= & o= AEE 2l
ol X|laol MES XD B2l (Kstanel) (el o)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rafain; 42,376 39,692 2,684
Kot & o= AIEE 2l 32,631 33,158 NB2T
XIgt==ol MEE S 2el(RIst=2tel) 32,631 33,158 NB2T
Aot=0|228= R 5,220 4,980 240
201 fer= 3| 5,220 4,980 240
01 At 2|l 3,960 3,720 240
O0lEstRg= FUss 1,800
oM, SEY, X S
800,000 800
o3, EU 1,000,000 1,000
OXlot=HR =8 SEH|
9,000 x5 x484] 2,160
2 S22l 1,260 1,260 0
@I=Fal: ] 25,0002~ 12& 300
OoRuEYs=z 80,000& * 122 960
ANot=2te| HE 8 & SEXTAL 500 500
201 Zet=Eh] 500 500
01 AtR2t2|HI 500 500
OXlot=2tel?ld BA+g
100,000& 5 *13] 500
Kot 28 - 22| 26,496 27,282 AT786
401 A2 HIZL R 0HbI 26,496 27,282 AT86
01 Al&HI 26,496 21,282 AT786
OExAotr2=2 RXI2|
2,916,000 x6IH A 17,4%
OExAot=2=2 &l WX
1,000,000 *69H A 6,000
OXiote &X3 da=+
3,000,000 * 104 2 3,000
OiiHIb1 & M2 2t 415 3% 19
801 OflHIH 415 3% 19
01 8HolbIgl 415 3% 19
Oollblbl 415,000& 415
Wees(Hen) 9,745 6,534 3.211
HEAHHXIZ(XIGt=22]) 9,745 6,534 3,211
SEMEHEIIS HE 9,745 6,534 3,211
704 K& = 9,745 6,534 3,211
01 &= 9,745 6,534 3.211
OSEMELESIIZ =
9,745,000& 9,745




